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level, the elevation of the sign relative
1o sea level is ~282 feet

b. Since the sign is 282 feet below sea
level and the elevation of sea level is
0 feet, Monica must hike up 282 feet to
reach sea level.

Rubric

a. 1 point for answer; 1 point for a
reasonable explanation

b. 1 point for answer; 1 point for a
reasonable explanation

Since a>b, ais to the right of b on a
number line. Since a and b are negative
numbers, both a and b are to the left of
0 0n a number line. Since the distance
from a to 0 must be less than the
distance from b to 0 on a number line,

Jel<[bl-So [ef > 3 i not possibie.
Rubric

1 point for answer; 3 points for a
reasonable explanation
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6.NS.7¢, 6.NS.7d

SELECTED RESPONSE
Select the correct answer.

1. Marlene s about to write a check for
$103.48 to pay for groceries. When she
subtracts the amount of the check from
her account balance, she sees that the.
new balance would be ~$28.80. Rather
than overdraw her checking account,
Marlene asks the cashier to remove
some items. For Marlene to be able to
pay by check without overdrawing her
account, what is the minimum value of
the items the cashier must remove?
@& -$103.48
(B -$28.80
@© $28.80
(D> $103.48

2. Which of the following pairs of numbers.
have the same absolute value?

@ -1,01
1

® -3

©o.1

@ -4,-40

3. How do the numbers -3 and 2 compare?
How do their absolute values compare?

9
S 2
5o 1 Which

number has the greater sbsnlule value?

4. Which is greater,

2
@& - '3 |sgne.stennsn1 »but 13 has
the greater absolute value.
2 9 9
(® 13 s greater than —, but —=

has the greater absolute value.

9
© - '3 is greater msn1 -3

has the greater smnluoe value.

™ ‘:ZT is greater than — 193,.!M|

has the greater absolute value.

Select all correct answers.

5. Which numbers have an absolute value
of 22

@®-3
®-2
©-1
@™o
®1
®2
@3
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(A -3 is greater than 2, but 2 has the
greater absolute value.

(@ 2is greater than -3, but -3 has the
greater absolute value.

(© -3 is greater than 2, and -3 has the
greater absolute value.

(D) 2 is greater than -3, and 2 has the
greater absolute value.

CONSTRUCTED RESPONSE

6. Identify the pairs of numbers on the
number line that have the same

absolute value.
22511 -3
22511 -2

-2

-1

075

0

175 225

2
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7. Both Vince and Betty use their debit
cards to make purchases. After their
purchases, Vince's checking account
balance shows a transaction of ~$25.00,
while Betty's shows ~$18.25. Who spent
more money? Justify your answer by
‘writing an inequality.

8. Find two numbers a and b with the
following properties.

a. a>b,[a>]e]

9. Monica is hiking in California’s Death
Valley. Along her route, she sees a sign
that says 282 feet below sea level.”
Elevation is the height above or below
afixed point. Positive elevations indicate
heights above the point, and negative

10. In a town, Talbot Street is the main
commercial center. The number line
shown represents Talbot Street, where
‘each unit represents 100 feet.

Fist st

Grocery Store

Bike Shop

Bakery

Second st

Frul Stand
Juice Bar
Autobody Shop

i st

i

210 1
Talbot st

a. Yvette and Naomi are at the
intersection of Second Street and
Talbot Street. If Yvette goes to the
grocery store and Naomi goes to the
fruit stand, who travels farther from
‘Second Street? Justify your answer.

-4

b. Anzelm is at the intersection of First
Street and Talbot Street. How many
feetis Anzelm from Second Street?
Justify your answer.
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a. Whatis the elevation of the sign 11. Suppose a and b are two negative
relative to sea level? Explain. numbers. If a > b, is it possible that
a]>[b|? Explain your answer, using a
number line and examples as needed

b. How far up or down must Monica
hike from the sign to reach sea
level? Explain.




image5.png
6.NS.7c, 6.NS.7d Answers
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Rubric
1 point for each pair of numbers

7. Vince spent more money;
|-s25.00| > |-518.25].

Rubric
1 point for correct answer; 1 point for
inequality

8.a. Possible answer: a=2, b=1
b. Possible answer: a=2,b=-3
c. Possible answer: a=2, b=-2
Rubric
1 point for each part

9.a. Since the sign is 282 feet below sea

10. a. Yvette travels farther from Second
Street. The grocery store is -3 =3
units from 0, and the fruit stand is
1= 1 unit from 0. Thus, Yvette travels
farther from Second Street to the
grocery store than Naomi travels from
Second Street to the fruit stand

b. On the number line, the location of
First Street is -4. Since Second
Street is represented by 0 on the
number line, the absolute value of the
location is the distance. First Street is
|4|= 4 units from 0. Since each unit
represents 100 feet, Anzelm is
4+ 100 feet = 400 feet from Second
Street

Rubric

a. 1 point for answer; 2 points
for justification

b. 1 point for answer; 2 points
for justification

11.1fa>band a and b are both negative, it

is not possible for [a| > [b].





